UTP Statistics Quiz Assistance
 [image: ]Step #1 put in order:
75,79,84,84,86,87,88,89,90,92
Eliminate to get to middle – Since there are two in the middle, add them and then divide by 2
86 + 87 = 173
173 ÷ 2 = 86.5


[image: ]Variation is the range or the 
difference in highest and lowest.  
22 – 11 = 11

[image: ]First order the data:  6,7,7,8,9,9,11,12,14
Lowest = 6
1st quartile = Middle # 6,7,7,8,9 = 7
Median = 9
3rd quartile = Middle # 9,11,12,14 = 11+ 12 = 23
                               23 ÷ 2 = 11.5
Highest = 14
Three of the answers have the same #’s only one does 
not work based on above calculations


[image: ]

[bookmark: _GoBack]First put in order:  You are looking for the mean of the upper quartile or from the median of the whole set to the highest number in the data set
    ( 3.9,4.1,4.2,4.3,4.3,4.4,4.4,4.4,4.4,4.5,4.5,4.6,4.6,4.8,4.9,5.0,5.1)
      4.4 is median of data set or median of Q2
      From 4.5 to 5.1 there are 8 numbers, 2 middle numbers are:
      (4.6 + 4.8) = 9.4
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2)

Test Scores

Sara has been using an online review program to take practice tests for her upcoming graduation exam. Her scores are shown in the
table. What is the median of the data?
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4)

You record the temperature for 12 days. The data is shown in the table, which number describes how all the values in the data set
vary?
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7

Which data set COULD NOT be represented by the box plot shown?





image9.png
9)

If you create a box-and-whisker plot for the data set, which expression correctly calculates the third quartile, Q3, of the data set?

{43,51,39,45,44,49,50,46,41,46,44,43,48, 44,42, 45,44}
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